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No.
(ng- TEQ/ m3N) (ng- TEQ/ g) (ng- TEQ/ g) (pg- TEQ/L)
1 5o 1 H2 4 @ 001 H2a @ 00 03
2 H2 812 091
2 481 H2 ®.12 15 H2 @12 012
3 H2 @12 15
4 H2 §.29 18| H2 g.29 00 2
3 3 608
5 H2 §.29 13| H2 29 012
6 H2 g21 00 041
20 H2 4.24 000 0[3
47 , H2 8.15 00 016
H2 4 a3 00 08[L
5 |() 4. 38088 H2 §.29 000 0|2 H2 81 13| H2 81 00 0 0|9
" 9 H2 & @8 041
6 " = H2 @1 036 H2 ®1 00 2
10 H2 @1 020
1 H2 4 24 008
12 H2 4 24 013
7 3 786 H2 4 % 073| H2a 1 006
13 H2 & 24 00 3
14 H2 4 @0 00 8
15 H2 ®30 041
8 20259 H2 4 @5 091 H2 & @5 00 026
16 H2 830 011
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No.
(ng- TEQ/ m3N) (ng- TEQ/ ) (ng- TEQ/ ) (pg- TEQ/ L)
9 1) 1174 7
10 () Lol 18 H2 B30 00 05h H2 B30 11| H2 830 00 099
11 |( L 567 19 H2 8
12 - 20 H2 $.29 00 0| H2 29 00 8| H2 §29 0
13 5. 20. 3 21 H2 &1
22 H2 $.17 00 0 0 B|0HR &.17 0 H2 §.17 00 03
14
6-81
23 H2 ®.10 00 0 05 H2 $.10 0 H2as| 0000
H2$10| 0000
15 L 14 s 2 H2 &.10 00 0 0 0|0HR &.10 0
H2ar| 0000
25 H2 B.19 00 0 0 6|0HR g.14 00 0 00p 2
16 u H2 g.14 00 9
26 2814
27 HL B
17 L 264 H2 8.25 00 2
28 H2 8.25 00 0 B|2H2 825 00 0 6|0
(
18 953, 29 H2 8
19 () 159 30 HL 8 0
20 |( ) o2 31 HL 3
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